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S RECI ()
B 52N SH2Y L KL
Sel: SE 5K 29 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-XASA BAMLARES 120,000 «50H 23] 1,200
-AIIRES 5,000,000& 5,000
o Xt&F s X8l (10CH) 48,852
-S&(HE) 5,247,000& = 1CH 5,247
-582(58) 4,000,000 *4CH 16,000
-SE(HE) 8,500,000 = 1CH 8,500
-SE(EE) 5,500,000 »3CH 16,500
-StE(a¥) 2,605,000% *1CH 2,605
HIEHD SS2elAAE 2= 16,100 10,100 6,000
201 Let2d] 6,600 6,600 0
02 25=24gHl 6,600 6,600 0
= A& EHI KXY 6,600
-“ETEOANAE ATZEYN X L A2
2l 550,000& =128 6,600
206 M= Hl 3,500 3,500 0
01 =8l 3,500 3,500 0
oMXEH D P 3,500,000& 3,500
405 RHoHE S HI 6,000 0 6,000
01 AL EZFH S 6,000 0 6,000
SRFID2IEH I 2] 3,000,000 =2CH 6,000
SEXH0 SHAHF 2,223,529 2,416,695 A 193,166
s 465,000
Al 968,000
- 790,529
SAAE SR 219,044 213,050 5,994
201 Let2d| 219,044 213,050 5,994
01 At 22l 740 740 0
o Yt EZH| 740
~HOIH MA EH(REA)
185,000 =20 23] 740
02 =224l 218,304 212,310 5,994
oZ32= ¥ HMA 153,320
-MS I3 (LEAS, 0ISNE) S
8,850,000& x12& 106,200
-HE M ESH MEBZ 23,0008 43 & 128 1,104
-SHFESHL IPAHUIEZ
174,300& #2232 d 123 46,016
o A& EHI R XY 64,984
“QIHUHSIAI A SN2
588,839,000 *9% 52,996
-AFE2E AL EHI 19,756, 000& *5% 988
SUE=Z s 5,500,000 »24! 11,000

_43_




S 80D
M S SH0 A2Y & Xob2e
el EEHQ SMHE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
s MEIA MBS 3,000 3,000 0
201 £B-2d| 3,000 3,000 0
01 At 22l 3,000 3,000 0
obt=2H| 3,000
-HY MBS E QI 1,500& %1,0000H 23] 3,000
SEHQ TV s& 2 508,485 465,645 42,840
201 Let24d] 508,485 465,645 42,840
02 232gHl 508,485 465,645 42,840
o222 2 MA 347,568
-CCTV B3 AR
80,0003 1493 & «12& 143,040
-CCTV ADSL3I & AtEB &
25,0003 5263 & «12& 157,800
-CCTV MIIAtEBE 6,000 6493 & 128 46,728
= A& EHI KXY 160,917
-2 E CCTV S X2 2 (54700 4 /8520H)
3,575,916,000& *4.5% 160,917
oNEHEIM 2 AR (=24]) 993,000 1,350,000 357,000
s 465,000
Al 528,000
401 AIEHI L 201 993,000 1,350,000 A.357,000
s 465,000
Al 528,000
01 A& Hl 993,000 1,350,000 A 357,000
ool st=E3t0et FO0HA X 993,000,000 993,000
s 465,000
Al 528,000
AdS A HYHE CCTVE X BAH(AIH]) 50,000 0 50,000
Al 50,000
401 Al HIZ 201 I 50,000 0 50,000
Al 50,000
01 A& HI 50,000 0 50,000
oftdE YA YHE CCTVE X SAH(AIIHQH)
25,000,000 *20H 2 50,000
Al 50,000
St E CCTV LED QFLHEXIE & XI (AlbHl) 20,000 0 20,000
Al 20,000
401 A& HI K 201 I 20,000 0 20,000
Al 20,000
01 A& HI 20,000 0 20,000
o & CCTV LED CHLHEXI# A XI (Al 21 A et)
2,000,000 *100H 2 20,000
Al 20,000
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
CHECOH =9 gel= CCTVE Xl ZAH(AIHL 100,000 0 100,000
Al 100,000
401 Al B 2 0HHI 100,000 0 100,000
Al 100,000
01 Al& H| 100,000 0 100,000
oMY =t dtHZ CCTVE Xl 2 AH(AIBIAICH)
25,000,000& =44 A~ 100,000
Al 100,000
AMS drH= CCTVAE Xl 2 AH(AIH]) 60,000 0 60,000
Al 60,000
401 Al HIL 201 60,000 0 60,000
Al 60,000
01 Al&H| 60,000 0 60,000
oMAES Bt CCTVA Xl ZAH(AISIXICH)
30,000,000& =24 A~ 60,000
Al 60,000
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Al 90,000
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Al 90,000
01 Al &bl 90,000 0 90,000
oELSE BHE CCTVE Xl Z2AH(AI2IHICH)
30,000,000 34 A 90,000
Al 90,000
WA= - 0D =Y g = CCTVAE Xl 2 AH(AIHL) 90,000 0 90,000
Al 90,000
401 AIEHIL 20| 90,000 0 90,000
Al 90,000
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oAM= - 1D =B gtHE CCTVAE X 2 AH(
Al 21| eF) 30,000,000 *3H A 90,000
Al 90,000
HEZZIEs 22 g2 CCTVA X 2AH(AIH]) 30,000 0 30,000
Al 30,000
401 Al HI L £ 0HHI 30,000 0 30,000
Al 30,000
01 Al &HI 30,000 0 30,000
oEZCIEfs 22 BHE CCTVE X 2 AH(
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Al 30,000
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S 80D
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30,000,000& =14 2 30,000
s TN 2 2,375,010 2,338,491 36,519
FAEE X 2 e 2,375,010 2,338,491 36,519
201 LEr2 Y| 2,327,665 2,284,491 43,174
01 At 2teltl 191,820 157,256 34,564
oYt~ H| 191,820
-S| dHEAA == 1,923,000 133l 24,999
-4 2EEH 5,800,000& x13l 5,800
-JIHA&H 45833 21,000,000& x13] 21,000
-AEAE SEHYEEH =2
5,000,000& x13] 5,000
LAY AS)IsEE =2
3,500,000& x13] 3,500
-EAZel 225 P2 2,500,000& x12& 30,000
M3 2 SEFAM 6,365
M= 3 3,113,000& =23l 6,226
CEEFAE 139,000& 13l 139
“NSHAANAEEBE =2
1,663,000& 128 19,956
-Al 2J18 53 === 3,000,000& 13l 3,000
-g2EsllEd =8 200,000& = 10CH 2,000
-2x0| 24 LA 29,3102 5804 17,000
- WUHEI MZ =2 15,000
SadRs0) 4,000,000 *3CH 12,000
32 29 1,500, 000& »2CH 3,000
-==2 dolls ZX 1,000, 000& *43| 4,000
“HEA WHED| AIEEE =82
95,652% »230CH 22,000
-8IO2 HIIE8dE ==& 3,050,000 =44 12,200
02 =24l 2,135,845 2,127,235 8,610
o222 2 MA 644,596
-EAMEDIR3 34,716,000& x12& 416,592
-4 ot ER3 5,666,666& x12& 68,000
“ZAIIARS 11,660,000& 128 139,920
—“EADSIAMDIAMAEE S
75,0002 x 13| 75
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—rgordgel Xkt By 2 28l
55,0008 * 13 55
-IERYLH 18,000,000%! * 13| 18,000
~RH%s AEE 4,4009 x378| M +12 1,954
S A& ZHKRNY 77,242
~HARA Z2 R X 1,99191%35,781.6m 71,242
-~ S AL R 250,000 *24CH 6,000
SHAAIE R 3,400
~520| DM B#FNA
WS Ol012 & X 1,700,000 x2CH 3,400
SHAMANSZRIBAYI(ANE/HA/T)
1,410,607,0002 1,410,607
401 Al HI L =TI 35,745 54,000 118,255
01 A& 35,745 54,000 18,255
CTRHA HES FUNNEY 442
35,744,8812 %13 35,745
405 XH&HF St 11,600 0 11,600
01 ML S EH S| 11,600 0 11,600
SEA 224D PY
294 5t7] 22,0002 *3004 6.600
o=, Hsloa HICQT2ME 7
2,500, 0008 2CH 5,000
I SYHYI (32 D) 49,310,489 44,487,121 4,823,368
= 151,454
Al 12,760
- 49,146,275
2 o2 (82 D) 48,968,541 44,155,897 4,812,644
= 151,454
Al 12,760
- 48,804,327
2 o2 NRAY 48,791,567 44,080,567 4,711,000
101 Q121 b 47,025,647 42,462,187 4,563,460
01 24 45,500,464 41,090,950 4,409,514
o o= [ & X} (569! ) 4,933,825
-123 4,526,714
THI(Z:UFSN A=)
106,359, 0002 12! 106,359
RGBT HUSH U2, BEALE
2) 99,566,500 *22! 199,133
CEH(4S2:4BEH ¢ Z2ALTE)
90,602,000% *82! 724,816
HES(52EVSH A2, B2A+TH)
77,697,900 #45¢! 3,496,406
-5 S W & 1l 4,523,449,0002! *2% 90,469
-5 Dot 4,523,449,0002 *7% 316,642
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2N
X ZH -
L= B

el

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

o83 (7962!) 30,352,370
-Jl22(79%621) 29,757,225

-z (2452 =)
4,098,400 x23121 x12& 11,360,765

721382 J1F)
3,033,000& x29002! x12& 10,554,840

82 (552 JIZ)
2,042,300 x2612!1 x12& 6,396,484
92 (352 JI=) 1,720,400 %700 128 1,445,136
ESE-Dl Rkl 29,757,224,400& *2% 595,145
SENI0: =] 2,359,341
8324 28,312,088,400& x1/12 2,359,341
oMM 2,493,586
s 471,360
- Hi < Xt 40,000& *0.90%4002! x12& 172,800
=M AU 60,000 x150Q! x12& 108,000
Am ol:E X4 100,000& «302! x12& 36,000

JIE 2=

20,000& *1.61%x400Q! x12& 154,560
-S04 700,000& 400! x12& 336,000
ARl 200,000& x321 x3& 1,800
~H 22 IHA 2 587,160
2543 O & 130,000& 17721« 12& 276,120
20 O] &~25E 012 110,000& #4821 x12& 63,360
- 15 0 &~20= 0] Bt 80,000& x9501 x12& 91,200
- 109 Ol & ~15 0] BF 60,000& x7421 x12& 53,280
- 54 0] &~104 D] 2F 50,000 17221 x12& 103,200
-AEZRY 30,120
- 28 50,000& x7Q21 x12& 4,200
- 8HE 40,000& x5401 x12& 25,920
SDHISRASY 50,000& x1621 x12& 9,600
-thRs< 323,542
- 53 4,564, 200& x4 . 1%*2021 x12& 4,492
=1 3,878, 100& x4 . 1%*85Q2! x12& 162,183
= 3,187 ,600& x4 . 1%%x97Q2! x12& 152,126
- 82 2,408,8003 x4 . 1%*401 x12& 4,741
=38 113,160
=10 50,000& x9Q1 x12& 5,400
6~72 30,000& *13721 x12& 49,320
8= 0l ot 20,000 x4901 x12& 11,760
RPNl PN = 44,640
| A 30,000& 10021 x12& 36,000
LD A 20,000& x36021 x12& 8,640
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2N

3 A
K EH - BH K
(=R B o o
=1
o =2

S olzed2AH| (3 A1) (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
SotE AN (BAZ=80)
30,848,000 «86%*12/30 10,612
od=SAt MY 840
—HHE 40,000& =121« 12& 480
-xX & 30,000& x121x12& 360
o Bt DM (621) 342,388
)29 s 4,362, 7102 621 x12& 314,116
ESE=Dl Pkl 314,115, 120& *2% 6,283
-89S 314,115, 120& *7% 21,989
oI A (L BHA DI Al 621)
28,008,598 x84%*86%*12/30 8,094
o AIZHSA ER T DI - (17€21) 467,402
-Jlgds 2,102,000 1721 x12& 428,808
-H &8l 428,808,000 *2% 8,577
-84 S 428,808,000& *7% 30,017
CERXD NG (A ZHSE MDA
80,000& x1721x12& 16,320
o I B AH| (A2 A DI HI1701)
27,725,380 *84%*86%*12/30 8,012
o stAI DAl (2¢1) 34,438
-2 1,386,350& x201x12& 33,273
-H M Al 33,272,400 *3.5% 1,165
oStAIL DI M El &= 3,000, 000& =201 6,000
cIIELY 48,116
—-b 2 X+ 40,000& *0.90*3321 x12& 14,256
-=M X4 60,000& «1221 x12& 8,640
o\ EIE] 100,000& =122 x12& 14,400
-JIEF BSOS 20,000& *1.61%2801 x12& 10,820
o FMFAH| 140,000& x3321 x12& 55,440
oA gE X 63,540
-8t H (52 AMY) 400,000& 12l x12& 4,800
-2t I Nl (62 A ) 250,000& x 121 x12& 3,000
-2BADIH(7T2 A ) 165,000& *201 x12& 3,960
-2Htd I (82 AY), HAZF(23E~304
0l 2+) 155,000& x1121x12& 20,460
—AZFEET - BEAIZDIXI(98), HIAHE(23
Eo0let) 145,000& 1821 x12& 31,320
o2& S| 50,000& *3321 x12& 19,800
204 X R4 A Y| 1,765,920 1,618,380 147,540
02 &g 8 X4l 1,765,920 1,618,380 147,540
o X E XH|I(83101) /| 224 EE 1,765,920
23 (& &) 650,000 121 x12& 7,800
32 (B33 H) 500,000& 221 x12& 12,000
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S RECI ()
FM: HH2LZH (S H D)
el BT QIS YIS M) (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 400,000 821128 38,400
-5 250,000& x4501 123 135,000
-6 165,000 23121 x12& 457,380
=) 155,000& 29001 x12& 539,400
-8~9=5 145,000 33121 x12& 575,940
ZZ A2 (I EH SSEM2H ZHIXE)( 33,700 50,000 A 16,300
=Hl)
= 33,700
101 @124l 33,700 50,000 216,300
= 33,700
01 2= 33,700 50,000 A 16,300
cEZH SEMRBXHE ZHXA
33,700,000 33,700
= 33,700
T2 A2FHI(HAAMSR HZH X&) (=4l) 15,674 9,600 6,074
= 15,674
101 @14l 15,674 9,600 6,074
= 15,674
01 2= 15,674 9,600 6,074
SCOHBEAMPUHE: ZH XS 15,674,000& 15,674
= 15,674
2 E2HH(OtsE23)(=3Hl) 127,600 15,730 111,870
= 102,080
Al 12,760
- 12,760
101 @1 A Hl 127,600 15,730 111,870
= 102,080
Al 12,760
- 12,760
02 JIEt A2+ 127,600 15,730 111,870
cOlSESHERA 2] 127,600,000 127,600
= 102,080
Al 12,760
- 12,760
ol 2yl (3 H ) 174,920 164,244 10,676
ol RAHl NRAY 174,920 164,244 10,676
101 144 dl 174,920 164,244 10,676
01 2= 107,965 98,350 9,615
oxU2ZRH 107,965
-AN2ZHRI(7TS I E)
10,952& %2101 «35A] 2+ x 122 «90% 86,937
S AAYDR42Y(7IIF)
10,952& 201 x80A| 2 x 12& 21,028
03 2R (RIAHA)2Z2NHE S 66,955 65,894 1,061




S 8D
FM: HH2LZH (S H D)
el 2| (3 ) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
oXataE W ER(22]) 66,955
=2 % =g 54,535
2s 1,674, 7002 221 x12& 40,193
RS 1,674,700 221 x200% 6,699
22 175,930& 201 x12& 4,223
ARRBEINY
12,570 xBAI 2 %201+ 17 3,420
—X Qg 60,0002 201 * 128 1,440
Sizag 480
- B Xt 40,000& x 121 x12& 480
-= &l 130,000& »22!«12& 3,120
-u Sl 140,000& »221 x12& 3,360
-YE SOt 1,674,700& 20! *60%*2 3| 4,020
| (2] Al 1) 167,028 166,980 48
Jl2ZH M2AY 167,028 166,980 48
gt 33,936 35,280 AN 1,344
f2telyl 33,936 35,280 21,344
=&l 18,432
-S2=24 8,000 x2421 x 102 x 123 *80% 18,432
A= 1,680
-8 TS AR 140,000& 128 1,680
2MII=z2g 720,0003 2421 «80% 13,824
(1] 24,192 25,200 A 1,008
LH 04 bl 24,192 25,200 21,008
cZHUHEHE 20,0003 2421« 72 123 *60% 24,192
S 4,800 4,800 0
N2ggeF 4,800 4,800 0
M2 2601 J|E (LA 20 Eg)
400,000& x12& 4,800
= FH| 104,100 101,700 2,400
SR 104,100 101,700 2,400
NMZHR= | (49¢0!) 104,100
-HEE (22 650,000& «121%x12& %1.5 11,700
-2 RFHE(3 600,000& x121x12& %15 10,800
-4= 21,600
=% 350,000& 401128 16,800
EALE 400,000& x101+128 4,800
-5= 60,000
Ay (BHA ZEY
100,000& »26 21 12& 31,200
s 150,000& 1621 128 28,800
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S RECI ()
M WHREs(3AHW)
S WEAHAHX = (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Hees(3AH) 2,000,000 1,000,000 1,000,000
HEAHHKI = 2,000,000 1,000,000 1,000,000
HEHH X ZE N AL 2,000,000 1,000,000 1,000,000
702 J1SHES 2,000,000 1,000,000 1,000,000
01 JI3dE= 2,000,000 1,000,000 1,000,000
cEMAEIZ HES 2,000,000, 000& 2,000,000
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Ab ot

=2

20228 & 20

A A

ton

SHHED
o NPHZSY

Sl NFMR =2

g Al

SN HH-S(BN) - MBAY - B il HlnE2
& 629,135 894,860 A 265,725
= 108,770
- 520,365
NLENE2E 491,966 612,768 A 120,802
= 108,770
- 383,196
=M &= 491,966 612,768 A 120,802
= 108,770
- 383,196
NgA 20 H= 249,853 380,404 A 130,551
201 2er2 Y| 248,253 374,683 126,430
01 At 22l 35,804 54,339 A 18,535
oYt H| 33,684
-XEA M2 DXAM & 2 =
653 +342,600H 22,269
KA A2 (SE) 2XAM M
65,0003 » 122 A 780
-NEAM ADERE(LE) DA M
55,0003 » 13 A 715
XA ER2EE (89, 014) 3,390
=Rl 60, 0002 *9QIH A *63| 3,240
- 30,000& *1JH 53] 150
KA 2EEA 2 2,450
- KIS A 50,000& *34H 1,700
PRI PSR 100, 000& »7& 700
NS AMZEALA R 50,0003 »1& 50
-NYHNIAXNAH &2 85 7Y
70 =10,0000H 700
DY 0N ZElH ARE(EE 5) ¢
1,220,000& = 1CH 1,220
-IXA €28 ZBHEU 2,160
ZDelHEH 180,000 *6CH =23 2,160
cR2dg 1,400
“NEA doAARS HFexE
0,000& 102! %23 1,400
o= 720
“NIREIAA W2 60,0003 x1CH*12& 720
02 2=22ZHl 212,449 320,344 A 107,895
ocBERIB(RHEE) 212,449
“KNZgA DXAM Y SHUHE 212,449
=l 2,530& 23,5004 59,455
=Rl 430& *355,800A 152,994
203 PR =&l 1,600 1,600 0
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M N

o NPHZSY

Sel NENE 22 (ol @)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
03 A F=XH R =ZH| 1,600 1,600 0
oXlgN = st & 235 2
2,000,000 *80% 1,600
HEF=EIA SEXZA 236,696 227,628 9,068
=2 108,770
T 127,926
101 1Al 71,658 65,147 6,511
04 JI2ZtHZ22 s+ 71,658 65,147 6,511
CMBFEINH SHXA JZH22T o2l
1e0) 14,676
-2y 80,880 121 %272 601 = 13,103
-HE= 13,102,560& *12% 1,573
CHE=EItA SHITA HEIZAF A2 (36
ol) 56,982
-y 80,880 3621 19 55,322
== 55,321,920 *3% 1,660
201 LEr2 Y| 165,038 162,481 2,557
= 108,770
T 56,268
01 At 2t2l bl 165,038 162,481 2,557
oYt H| 163,498
012N SSF dEHx8 6,325
OtutE 154,000& 25 3,850
- CHAICH, AE = 99,0003 *x25& 2,475
—HEFEDNA SEH XA 165,173
-JtBEE THMA 15,5002 «360H *33 16,740
SAHEIEE AE =8 6,4028%20,000= 128,040
= 108,770
T 19,270
COAMEINR BEE 8,002 +505 401
-0 BN BEx2
26,675& *100& 2,668
HEFEHIAEE HUHE & EES MH
2,162,000& 23| 4,324
FHUHSEHdIME SEHMEXN S
3,000,000 3,000
-dIOIdESH A28 S 2,000,000 2,000
oc2dad 1,540
SHEFEII AN RESMIASAIRAZE &
S 70,000& 1121 x23] 1,540
UNRAD = PSP =N 5,417 4,736 681
306 2= 5,417 4,736 681
01 &= 5,417 4,736 681
ocXZHNEHIZ &A 5,416,688 5,417
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2AM: N
M HE2IZH (ME )
el A2 (ME ) (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HY2FZH (ME D) 137,169 282,092 A 144,923
ol 2YHI(MA ) 86,937 173,696 A 86,759
ol IHl MRAY 86,937 173,696 A 86,759
101 @124l 86,937 173,696 A 86,759
01 2= 86,937 172,112 A85,175
cxXU2RE 86,937
-AN2RI(7TEINE)
10,9523 %2101 x35A] 2t+ 123 «90% 86,937
Jl2ZH (ME ) 50,232 108,396 A58, 164
JI23Hl NSEAS 50,232 108, 396 A58, 164
201 Let249] 31,248 59,472 N 28,224
01 At 22/l 31,248 59,472 N 28,224
o g gl 16,896
-S2=24 8,000 #2201 «10 x 123 «80% 16,896
Xz 1,680
-8 TS AR 140,000& 128 1,680
cR2MIIZ22Z | 720,000& 222! «80% 12,672
202 O4dl 14,784 A 28,560
01 = LHA YI 14,784 A 28,560
czZUs& 20,0003 2201 x7 2 x 123 x40% 14,784
203 YR =&l 4,200 A1,380
04 NI 4,200 A 1,380
o & 2201 J|&E 350,000& 122 4,200
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A & O & A B Ml M
20224 & 20a e Al
M ME 22 o
Bu: oMo NEB2
el M Fel (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
M2 2el ot 618,718 319,830 298,888
A MEH2e 237,555 319,830 N82,275
Mg FHel 106,703 95,829 10,874
KA M Hel 53,205 51,380 1,825
201 fEt2E | 48,205 46,380 1,825
01 AtR 2t 2l | 48,205 46,380 1,825
o gt =EH 48,205
-OHUHE € SEOXAM ME 65&#365,0002 23,725
-24E YR, SAM, SSAXNAM(HEXR
S8) M 65,0003 208 A& 1,300
-HEXD =20 OHE =88E++E
2,000 +3,000A 6,000
-HETHSEFALE AES 15,180
AEHEE0IE JI=Es 3,960,000& 3,960
YR 2CAIAEH 1,100,000& 1,100
dT=zdFAHA 0182 7,920,000 7,920
CiOIE 253t 2,200,000& 2,200
SHEHRE SR=H HE22E
2,000& *1,0004 2,000
308 XXM SO0l ™ 5,000 5,000 0
N3 2SoHUSIL4EAS AL 5,000 5,000 0
odF=d SN2 Hl+=== 5,000,000 5,000
Hgo 32y & NEE= 5,600 5,600 0
303 L&z 5,600 5,600 0
01 24= 5,600 5,600 0
oM MEH LNIABEUE 2,600
SR 700,000& 14 S *12 700
- 500,000& 200 = 13 1,000
-&d 300,000& 31 S 13l 900
CUEEE ANTMAUES Lz 2 EF2
HAE g= 3,000, 000& 3,000
HE e Hs B 10,350 10,350 0
201 fEt2E | 10,350 10,350 0
01 AtR 2t 2l | 610 610 0
ot FH 610
-HEXE HsE XS 120,000 & »3&8t & 360
-HEE HesE dX3F A2
100, 000& *5Z *50% 250
02 229l 9,740 9,740 0
o323 & MA 300
XS Al 300,000& 1CH 300
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AN N3 2t B
g A MR 2e

&S MgH Hel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o X+l 2,840
XS (LS ER)
3,550,000& = 1CH x80% 2,840
o= A& EHI KXY 6,600
“HEXE HSEAIAAH T2 2e|
550,000& =128 6,600
R AZE RATA 1,200 1,200 0
303 &3 1,200 1,200 0
01 &= 1,200 1,200 0
oEt7, BIAE XYM =5 Z&=
1,000,000& = 12& x10% 1,200
N2 HMeH Hel 28,148 23,299 4,849
201 et 28,148 23,299 4,849
01 At 22l 28,148 23,299 4,849
o Yt H| 28,148
e DN L FEE PY
653 «12,000& +73] 5,460
SHREE U AE HDS AN
65% 6,500 x113] 4,648
-3 eR0E X 3= 18,040
AZ2FEEMHA OIEE 1,320,000 1,320
CANERAMHA OlEE 6,600,000& 6,600
HALI2HE/AAE AH2Z2 7,920,000 7,920
MEOOH 2=3t 2,200,000& 2,200
Mel+=2 Mg &z a 8,200 4,000 4,200
303 L& 3 8,200 4,000 4,200
01 243 8,200 4,000 4,200
oMol SEHEIIEL 1,000
X R 500,000 x 1O 2 A =13l 500
- 300,000& 10 2 M *13] 300
-&d 200,000 x 1O 2 A =13l 200
oM E=ILa 7,200,000& 7,200
NLENE 2235 130,852 224,001 A 93,149
NEHMEESAAE SR 2tel 58,914 58,159 755
308 A EHHSOIA 58,914 58,159 755
113/ 2SoHUHSBHEAEALS I 58,914 58,159 755
CKNLMEEAAE SN2l 58,064 ,000& 58,064
OXMUXLMESAAE S22 850,000 850
Nel=LEBEAAE KX 22 23,39 23,574 A 180
308 XtXIEHHSOIA 23,394 23,574 A 180
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2N

NI 2el ot

Ha: ot FOl NEBe
Sl NYHME Z2a

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
113/ 2SoHUHSZ&EAEALS I 23,39 23,574 A 180
oHNA+LHEAIAE SX2el 23,394,000 23,394
TAICH XIEAMEEAAE 2= 43,964 65,148 A21,184
403 MtXISHHE X201 & 43,964 65,148 N21,184
02 S 2SO0 HEAEE 2 E AL 43,964 65, 148 A21,184
oXMO XENMEEAAE 2= 43,964,000 43,964
SUE dMEgxs) 2208 |2l 4,580 4,580 0
201 Let24dy] 4,580 4,580 0
02 2324gHl 4,580 4,580 0
= A& EHHI R XY 4,580
-8 MYXI 208 sl2el
220,000& »12& 2,640
-SUHE MEXx3I =H 100, 0002 *5CH 500
-EHtY IX=x30 sSaE
40,000 =30 122 1,440
ANLENE2E 247,509 0 247,509
=M &= 247,509 0 247,509
ANEA 20 == 247,509 0 247,509
101 @124 dl 4,627 0 4,627
04 JIZHZ2XREES 4,627 0 4,627
CXNLALSH(BEAS)MNIDME St BEERE
orgel(20l) 4,627
- 80,8803 20126 4,206
-HE = 4,206,000& *10% 421
201 LB-2d| 241,282 0 241,282
01 At 22l 18,559 0 18,559
odbt=2H| 16,739
-XEA o2 DKM HE L =53
653 *105,000AH 6,825
KA A2 (SE) DM M
65,0002 » 15 A 975
KA ADERE(LE) DKM HME
55,000 » 155 A 825
-XNEA &2 SXAAM ME 66,0008 «102 A 660
-NEASH 2FHSERN S HRAUE
X 70& 15,0004 1,050
-XNgAN HREEE 570
=Rk 60,0003 x9IH &~ *13] 540
- 30,000 x 104 A %13] 30
-XgN &2 88 60
- 30,000& 1 A %23] 60
-XNEASAH ADEH &2 2,054
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AN N3 2t B
3 NLgNE=29

ool RFEMY =2 CER-D
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
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